

$$18b) \begin{cases} x' = x^2 - 2y^3 \\ y' = xy^2 + x^2y + \frac{1}{2}y^3 \end{cases}$$

SOL.

indeed $(0,0)$ is an equilibrium. Let $V = ax^2 + by^2$

then

$$\begin{aligned} \dot{V} &= Vx + Vy = 2ax(x^2 - 2y^3) + 2by(xy^2 + x^2y + \frac{1}{2}y^3) \\ &= 2ax^3 - 4axy^3 + 2bxy^3 + 2bx^2y^2 + by^5 \\ &= 2ax^3 + by^5 + 2bx^2y^2 + 2xy^3(b - 2a). \end{aligned}$$

Let $a=1, b=2$, then $V = x^2 + 2by^2$ is $(+D)$

and $\dot{V} = 2x^3 + 4x^2y^2 + y^4$. we consider

$$b^2 - 4ac = 16 - 4(2)(1) = 8 > 0$$

$\Rightarrow \dot{V}$ is $(+D)$. therefore, by THM $(0,0)$ is (NS) .

$$18c) \begin{cases} x' = y^3 - 2x \\ y' = x - y - xy^2 \end{cases}$$

SOL.

indeed $(0,0)$ is an equilibrium. let $V = ax^2 + by^2$
then

$$\begin{aligned} \dot{V} &= 2ax(y^3 - 2x) + 2by(x - y - xy^2) \\ &= 2axy^3 - 4ax^2 + 2byx - 2by^2 - 2by^3x \\ &= -4ax^2 - 2by^2 + xy^3(2a - 2b). \end{aligned}$$

let $a=b=1$. then $V = x^2 + y^2$ is $(+D)$ and

$\dot{V} = -(4x^2 + 2y^2)$ is $(-D)$. therefore by
THM $(0,0)$ is $(us) \neq (as)$.

$$20. \begin{cases} x' = y + kx^3 \\ y' = -x + ky^5 \end{cases}$$

SOL.

indeed $(0,0)$ is an equilibrium. let $V = ax^2 + by^2$

then

$$\begin{aligned} \dot{V} &= 2ax(y + kx^3) + 2by(-x + ky^5) \\ &= 2axy + 2akx^4 - 2bxy + 2bk^5y^6 \\ &= 2akx^4 + 2by^6 + xy(2a - 2b) \end{aligned}$$

let $a=b=1$. then $V = x^2 + y^2$ is $(+D)$ and $\dot{V} = 2k(x^4 + y^6)$.

if $k > 0$, then \dot{V} is $(+D)$, and by THM implies $(0,0)$ is (NS) .

if $k < 0$, then \dot{V} is $(-D)$, and by THM implies $(0,0)$ is $(us) \neq (as)$.

if $k=0$, then $V(x(t), y(t)) = V(x(0), y(0)) \forall t \in [0, \infty)$.

this implies $\{x(t), y(t) \mid t \in [0, \infty)\}$ is a level curve $V(x, y) = c$

for some $c > 0$. all $V(x, y)$ are closed

\Rightarrow symmetric $\Rightarrow (0,0)$ is (S) .